Rationalising the Denominator I
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1 Show that % can be written in the form avh where a and b are integers.
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2 Show that == can be written in the form avh where a and b are integers. Q
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3 Show that 7 can be written in the form avh where a and b are integers.
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4 Show that 20 can be written in the form avh where a and b are integers.
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Show that 24 can be written in the form a_\/1_5 where a and b are integers.
15 b [2 marks]
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Show that < can be written in the form a—\f where a and b are integers.
4v5 [2 marks]
35 £ . BiS
«s {5 190
s
4
1 L V2 .
Show that —— can be written in the form e where a and b are integers.
9v2 [2 marks]
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Show that % can be written in the form avh where a and b are integers

V24 [2 marks]
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Show that 24 can be written in the form % where a and b are integers.
5 [2 marks]
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10 Show that 10\_/_—‘/@ can be written in the form  av2-b
2
where a and b are integers. [3 marks]
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11 Show that % can be written in the form  a + bv3
where a and b are integers. [3 marks]
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12 Show that M can be written in the form a + b5
V20
where a and b are integers. [3 marks]
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13 Show that <—\/§) can be written in the form 2 where a is an integer.
[3 marks]
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14 Show that ﬁ+\/5_4 can be written in the form kv6 where K is an integer.
\/E [3 marks]
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15 Showthat\/%H/m can be written in the form kv2 where k is an ;TT;:;S]
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16 Show that \/2—_;+\/% can be written in the form kv3 where k is an ir}'f?ne;ks]
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17 Show that 2ox\/37% can be written in the form kv5 where k is an integer.
[4 marks]
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18 Show that \/5"'2\/3— 150 can be written in the form @ where a is an integer.
[4 marks]
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